



Name: _______________________

Chemical Quantities Practice Test
** Place all of your work on the Foolscap provided.

Make sure to number your answers**

1. A daily vitamin C tablet contains 0.090 g of vitamin C, C6H8O6. How many molecules of vitamin C does the tablet contain? [5]

2. Calculate the percent composition of Na2S2O3 [6]

3. a) The percent composition of nicotine is 74.0 % carbon, 8.7 % hydrogen, and 


     17.3 % nitrogen. Calculate the empirical formula for nicotine. [7]

 b) If the actual molar mass is 162.26 g/mol, calculate the molecular formula. [4]


4. Household bleach is an aqueous solution that contains 5.25 g of sodium hypochlorite, NaOCl(aq), per 0.100 L of solution. What is the molar concentration, C of sodium hypochlorite in bleach? [ 5]

5. Formaldehyde, CH2O(g), is an indoor air pollutant that comes from synthetic materials and cigarette smoke. A dangerous level of formaldehyde is 0.0032 g in a 5000 ml sample of air. Express this concentration of formaldehyde in parts per million. [3]

6. In an experiement, 16.1 g of iron(II)sulphide, FeS(s) is added to 32 g of oxygen, 


___FeS(s) + ___O2(g) ( ___Fe2O3(s) + ___SO2(g)


(a) Determine which reactant is the limiting reactant and which reactant is the 


excess reactant. [10]

(b) Calculate the maximum mass of Fe2O3(s) produced based on the limiting 



reactant. [3]


(c) Calculate the percent yield of Fe2O3, if 14.1 g of iron(III)oxide, Fe2O3(s), 
was produced. [3]
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